Algebra Name

Unit 6
Day 10 : Homework Date

Determine if each ordered pair is a solution of the inequality.

I. x=y>3; 2,-1,5,D 2. 3x-5y<+4; (-1,-1),4,0)
3, x<-=y; (0,2),(-5,1) 4. y>8; (10,-11),(-12,9)
Graph each inequality.

5. x+y<l1 6. 2x+y>—4




Graph each inequality.

9. y>2x 10. x>1

11. y<-3 12. 2x=7y>0

13. 4y-3x<-20 14, x>y
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Match each inequality with its graph.

15. —y>2x+2 16. 2x+3y<6
A B
10 )
A X!

N

42 B 8 10 08 B 4D

¥
il

SNREN

b
£y
=

AN

Solve and graph each inequality.

18. [3x—6|>21 19. [2x+8-12<-6

17. 3x+2y>6
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20. —2|x—4]+11<5
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Write the absolute value inequality for each graph.




